
Aire et Volume d’un Tronc de Cône (F)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π
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h(r1

2 + r2
2 + r1r2)

r1 = 102,3 dam

h = 111,6 dam

r2 = 46,5 dam1.

r1 = 127,1 km

h = 170,5 km

r2 = 89,9 km2.

r1 = 49,4 cm

h = 114,0 cm

r2 = 26,6 cm3.

r1 = 105,0 yd

h = 133,0 yd

r2 = 24,5 yd4.
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Aire et Volume d’un Tronc de Cône (F) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 102,3 dam

h = 111,6 dam

r2 = 46,5 dam1.

Aire: 97.997,9 dam2

Volume: 2.031.677,5 dam3
r1 = 127,1 km

h = 170,5 km

r2 = 89,9 km2.

Aire: 195.109,6 km2

Volume: 6.367.476,4 km3

r1 = 49,4 cm

h = 114,0 cm

r2 = 26,6 cm3.

Aire: 37.647,3 cm2

Volume: 532.671,1 cm3

r1 = 105,0 yd

h = 133,0 yd

r2 = 24,5 yd4.

Aire: 99.770,4 yd2

Volume: 1.977.423,9 yd3
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